2. (a) Express V108 in the form aV3, where a is an integer.
(1)

(b) Express (2—V3)? in the form b+ V3, where b and ¢ are integers to be found.
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6. (a) Show that (4+3\fx)2 can be written as 16+ k\x + 9x, where k is a constant to be
found.
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(b) Find I(4+3‘\/x)2dx.
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(a) Write down the value of 16%.

(b) Simplify (l6x'2)% .
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(a) Write down the value of 1253.

1.
1)
_2
(b) Find the value of 125 3.
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3. Expand and simplify (V7 +2)(V7 - 2).
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1. (4) Findthe valueof 167
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3. Simplify

5-243
V3-1

giving your answer in the form p+¢+/3, where p and ¢ are rational numbers.
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2. (a) Simplify

V32+18
giving your answer in the form aV 2, where a is an integer.
(2)
(b) Simplify V324418
3+42
giving your answer in the form 5V2+c, where b and ¢ are integers.
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1. Simplify 3+V5)(3-V5). -
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blank

Q1
(Total 2 marks) —,
J
2

VAT O A 0



Lcavc‘
blank
4
2. (a) Find the value of 83.
4 @)
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(b) Simplify zx .
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@ (3V7)
1)
(b) (8+\IS)(2—»\!S)
3
oy (R s el = nl= a5
b\/ (Fadls YC2-0F )
Q1
(Total 4 marks) P]
2



2. Given that 32V2 =24, find the value of a.
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6. (a) Expand and simplify (4 + V3)(4 — V3).

(0]

(b) Express = in the form a + V3, where @ and b are integers.
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1. Find the value of
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(b) 257
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2. (a) Evaluate (32)3, giving your answer as an integer.
(2)
(b) Simplify fully [253“ )_%
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3. Show that can be written in the form Va + Vb, where a and b are integers.
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2. Express 8 in the form 2”, stating y in terms of x.
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3. (i) Express

(5-V8)(1+v2)

in the form a + bV 2, where @ and b are integers.

(i1) Express

3)
30
\/80+:/—5
in the form ¢V'5, where c is an integer.
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1. Simplify
7+A/5
V5 -1
giving your answer in the form a + b+/5 , where a and b are integers.
)
Ll d® N el o el 0
el Uesey | S s -1
S A a7 e e TR
= S 2 d=
A "'Qir‘m O L‘)\\?:
( o=S b= 2—)
Q1
(Total 4 marks) T

R



pAESY. 2085

3. (a) Find the value of 8%
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(b) Simplify fully
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